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The figures in the margin indicate full marks
Jor the questions.

Answer Question Nos. 1 and 2 and any five
Jrom the rest.

1. Choose the correct alternative : 1x10=10

(a) The characteristic of logarithm of the number
45-61 is

b
- @i .2
(iii) 0
(iv) 3.

Contd.




(b) The 5th term of the series Ls3, 9 278
il 8] :
(1) 80
(ti) 27
(&) .2

(¢ If log, 27+log3x=4; then x is-
w4
(i) 2
(i) 3.
(iv) 20.

(d) Which of the following €quations has su.
of the roots = _162 and product of {'
roots = 1 9 ‘ ‘
() 3x2-16~3x+3 0
(1), ox? 13506 ig
(1) 12x%-26x+12=¢

13 '

(iv) x2+-6-x+1:0.
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If

04 d
f(x)=4x+8,g(x)=2xf10 an

(x)= x+2 then which of the following is

true ?

(i) f(x)z g(x)'atle
(ii) f(x)=h(x) at x=4

(iii) g(x)=h(x) at x=2
(iv) None of the above.
If two rows (or columns) of a determirrllzrrllt
are identical, the value of the determ
becomes
AR
i) ol
(i) 2

(iv) can’t say.

Contd.




(2) For the optimum solution of an |

)

(%) ‘A pure quadratic equation is of the form .
: : common ratio.
)  ax*+bx+c=0 .
(¢) Find the 7th term is, expansion of
(i) ax’+c=0 B 10
(4-7%)
(iii) ax® +bx=0 1 A
: (d) Find the base about which logarithm of 64
™) bx+e=0. - isa
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involving three variables, we can use -
1 (/) The value of | logx dx is

(i)  Graphical Method 5
(i)  Simplex Method
(i) Either (i) or (i) s l"g%
(iv) None. . (i) log 3 .
GM. of 2 and 18 (iii) log 2
Usls (iv) 3log3-2log2-1.
(i) 4 _ -
a2 ~ Answer the following : (Any five) 2%5=10 |
(iv) 0. (a) Déﬁne even function and odd function.
(b) The 3rd and 6th terms of a series in G.P. are

3 and 81 respectively, find the first term and
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(e) The first terin of an AP. is 6 and com
difference is 2, find the 15th term.

(¥ The total cost C(x) of a firm is

C(x)=0-0005x3 (.72 ~30x +3000,

where x is the output. Determine averagi
cost (AC) and marginal cost (MC).

3o () The difference between g proper fraction anc

its reciprocal is ~2% Find the fraction.
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(d) Simplify :

log /27 + log 8 + log V1000
log120

' (@) Evaluate :

N e
® ;lcl—amz bl

12—Nﬁ;:rzz
@iy Ui e G

b sl Iy JUS
(iii) ,gi’:i, 4x* +3x-1

.y lim lim2x+2limx
()= %

' (h) A function fis defined by

1

__2 AT

. | — 0
Show that f is continuous at *
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fl)=SEEee k0
X

2x4=8
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(h) What 'do you mean by LPP? Give the

(@) Find derivative dy
; advantage and disadvantage of LPP.

-

() e X=l 2+4=6
. X+]
(i)  y=35%45

15 '
(i) y=(25+ 5 (@) In the expansion (336 ——)—:7) find the term

(iv) y= (x=1) (v+2)

free from X. ‘ 3

(b)) The tota] (b) Find the co-efficient of x8 in (1+ x2)l° 3
9t cost of 0
utput x

c=§2x+35

: E (¢ Expand the following :
5 Pind

(i) (1+ x)4 | 3

(77)

Cost when outpyt s 4 unj
s (d) Prove that the middle term of

6.

(@ 8 . oG5, lan 2l
Mcl)' L‘;;ils following LPp graphicauyl n!( ) 3
Z =20x+4 : : ;
6x+y>18 < Subject to (a) Find the inverse of the matrix
Frdy212 B
¥ty 210 A=]1 " Dperd - 2
Sy 50
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®)

(c)
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‘ _3x+2 ghow that
(@) If f(x)'_3x—2 &

‘Show that 2
Lo Tt / (x)+11 =§%
o : _ S \%hE .
a b c :(b~c) c—a) a-b)(a+ . ction
a ey ~ o the graph of the following fur
~ (b) Draw \ 3
@)=l
nts read
, 00 stdents, 45 students S0
Solve by Cramer’s Ruje (¢) Tnaclass of 1 read chemistry an |
5 ts ind the
ics, 52 studen jects. Find t
e phy(iur:i’s read both the Su; Jerfeither physici
® Sl S0 4ty | St;nier of students who study | 3
n
3x+2y—z=4 nor chemistry. o
For any two sets 4 and B, prove :
“ (b) or e
Find the sum of 7 terms of the followiy - B)=4NB
. : (4U
series
. 3%3=9
s o | (a) Integrate the following :
a
The sum of three integers in A.P, is 2] an _ 5 xe* dx
* their product is 280, find them. ® ' :
21
' tan " X
A man borrows Rs, 4,500 and promises « 6 '[ lg—,g—li:;{") dx
pay back in 30 instalments, each of valu ' -
Rs. 10 more than the last. Find the 1st ang '
last instalments, ‘ Contd.

1
47 (1) BMAT 1:3/G ‘



(b) The marginal cost of producing x dozens of

pencil is Rs. ( 2 4x+12) If the cost of
producing 2 dozens pencil is Rs. 200, find

the total cost functions. - 3
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